T

15 ($600f8)

HEHIIE 5K M R’k
#860
# 860 $670 —]
USRS - .- S| | 3
T R - r L S_% |
5 £ | 2 [
”%Ti( A = # ® ﬁ__J
ol [# At -
o ] AR
S B A N o e
T === g 0 ERI
g T T
|1 R R U S vl g 45| 4600 JLs 8
Tlgl e gew || A  emmm =
N i
@ T EB{AR
2 - TE ‘[ 8 8
8 8 I T |
B 1 N | S, — L
2 E s
—_—
4 - -~
U4 BEEE (kg) FU% SEEE (kg)
S 72 ES 72
5ee 111 Eoet 111
L ERMRISE 97 LERfAIBE 97
FRERRIR 43 shERAISE 43
(21 (21)
TERRISE 74 AR 74
[E5E 94

860

0. 4680 %0]|
[ lso $580 50| |£22110m
2 .

g 1 | J’ , i
AT 8 R
ik i = |

o
PR
(_)_’[

FRERISE. TERAISRIE MR AR K E T2 1 78L& mA

67 \ CONCRETE PRODUCTS



